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Question 4
Question 4
4 Four students were asked to design a first-hand investigation to determine the effect of
pH on the activity of an enzyme.
Their designs of the investigation are shown in the tables.
Design A Design B
Tube Contents | pH | Temp. Tube Contents | pH | Temp.
number °C) number °C)
1 E 3 20 1 E+S 3 20
2 E 7 20 2 E+S 7 20
3 E 12 20 3 E+S 12 20
4 S 3 20 4 S 3 20
5 S 7 20 5 S 7 20
6 S 12 20 6 S 12 20
Design C Design D
Tube Contents | pH | Temp. Tube Contents | pH | Temp.
number (°O) number (°O)
1 E+S 3 10 1 E+S 7 10
2 E+S 7 20 2 E+S 7 20
3 E+S 12 30 3 E+S 7 30
4 S 3 10 4 S 7 10
5 S 7 20 5 S 7 20
6 S 12 30 6 S 7 30
Key: E=enzyme S = substrate
Which investigation is the most appropriate?
(A) Design A
(B) Design B
(C) Design C
(D) Design D
Choice Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 22.7 25 23.8 11 4.9
B 20.9 26.1 46.6 82.8 93.5
Cc 40 36 21.9 4.5 0.5
D 16.4 12.9 7.4 1.7 1.1
N 0 0 0.3 0 0
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Cluestion 4

The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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